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Given the following code, how can we use both traits A and B in the same class? (select all that apply)

trait A {

public function hello() {
return "hello";

}

public function world() {
return "world";

}

}

trait B {
public function hello() {

return "Hello";

}

public function person($name) {

return ":$name";

}
}

A. Rename the A::hello() method to a different name using A::hello as helloA;

B. Use B::hello() instead of A \\'s version using B::hello insteadof A

C. Use B::hello() instead of A \\'s version using use B::hello

D. Rename the A::hello() method to a different name using A::hello renameto helloA;

E. None of the above (both can be used directly)

Correct Answer: B

QUESTION 2

What is the output of the following code? echo "22" + "0.2", 23 . 1;

A. 220.2231
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B. 22.2231
C. 222,231
D. 56.2

Correct Answer: B

QUESTION 3

CORRECT TEXT

What is the output of the following code?
function increment (and$val)

{

return $val + 1;

}

echo increment ($a);
echo increment ($a);

Correct Answer: 22

QUESTION 4

Given the default PHP configuration, how can all of the parameters provided via GET be accessed in a form of a string?
A. $_GET[\WALL\]

B. $ SERVER[\WQUERY\\]

C.$_SERVER[WQUERY_STRING\\]

D. $_ENV[WQUERY\\]

E. SQUERY_STRING

Correct Answer: C

QUESTION 5

Which of the following functions will allow identifying unique values inside an array?
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A. array_unique_values
B. array_distinct

C. array_count_values
D. array_intersect

E. array_values

Correct Answer: C
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